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hich among the follomng is an incorrect statement;

T R R R e R e R L R R

» W

S i o e ey

1) The extreme to its mean positio

*
P
W
w
"
o
.
¥
A
&
|
&
o
b
v 3
o
&
}
b
|
*
¥
.7
W
Lo
*
-
#
&
#
o
#r
*
5§
%
|
i
.
b 8
b 4
*
*
-
o
*
+*
L
o
i
o
*
H*
e
8
#
*
s ¢
-
b
*

Lot 0 SRED SUR AR iR eh b el il =i S

e R AR e R e e e R e e e e e R e G e R e e S

Lk
Y E




Ao ok e ok i i ke ok ke ol S e Sie S ke ok S ke o i e e e S ale Al S i el e ol ok e S e ke ke ke Bl

N R S L R S ik Lo Sy e

S 5 S S S S S S e

g

o
i
]

S SRS S S S S e S

=

W SEE e e S e

e R AR e R e e e R e e e e e R e G e R e e S

L
Y




P 0 T A e e e ol it e e e e i e i A A AR A A A i e e e

Ao ol ok ke

Aok ok Bk

Al ek ok kol ok ko

o

X
x
-+
®
x
%
X
*
*
K
™~
"
.?
X
¥
*
L
X
¥
+
*
=
5
x
*
&
*
*
.T..
¥
N
"

oy
Sk ook ol ke Dl kL ok

o

B e S

e R R e T

e P g fe ot O fie S P St §- fe e O s G P o g Tie fe f O O 0 £ S0 §8 4 pfe P et S (C O s S P gt O e e e =




